Warm Up 5/7/19
Find the Axis of Symmetry and Vertex for the following:
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A lgzing Quadratio Graphs

Answer the questions given the graphs above.

GRAPH A

=z
1. What is the axis of symmetry for Graph A? T

-—
2. What is the axis of symmetry for Graph B? x 5

3. What is the vertex of Graph A? ‘ 1 S)At.lxmum or Minimum? I Iln
4. What is the vertex of Graph B? ( 5 | ' ) Maximum or Minimum?__M

5. ldentify the domain and range of Graph A.
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7. ldentify the equation for Graph A:
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Solution(s) to a Quadratic Functi

ROOTS
ZEROS
X-Intercepts

(These all mean the same thing)

*Where the parabola crosses
the x-axis



Draw each of the following graphs on your worksheet....
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THE
DiSCRIMINANT

Formula:

» I d >0, then there are 7— solufions.
» K d=0, then there are ’ solufions.
» Ifd <0, then there are O solufions.

b*-dac

EXAMPLES

Use the dscriminant to
determine the number
of soutions.
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22-1b=9

7. y=x"+5x+4

8.y=x-3x+10 O 2 soltions
0 1 solution
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soltions

9, y=x"+10x+25 O 2 sowtions
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10. y =2x' -4x-3 Xz solutions

o-H(2)(-3)2 1=

11. y=4x"' -12x+9
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O 2soltions
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lovd =40

12, y=-3x"+5x-8
0O 1 sowtion
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araphing Quadratic Equations

y=ax’+bx+c

S+ePS 40 QROPN O QUOCROC eQuOHON:

Step 1:  Find the axis of symmetry.

Step 2: Find the vertex.

Step 3: Fill in a table of values using your calculator.
Step 4: Graph!

Practicel

1 5 u.: OZ Graph each quadratic equation.
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2. y=x+2x+5 x:-—D:u.-s.:.:—
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Axis of Symmetry: X = —])

Vertex: (“ ]} L’ )

Domain: — 2> £ X =O
e =Y

Zeros: ﬂOl’\e—'
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verer: (=4, =1

Domain: —O X ==

Range: 5—{-" I

Zeros: NDT\E
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